
5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

TI Confidential: NDA Restrictions

SHUNT 2-3

JV SMITH

Engineer:

PCB Designer:

J. SETON

SW1 SW2 SW3 SW4

CPLD

TMS

TCK
TDO

SPARE1

TDI

SPARE2

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+5V

+5V

+3.3VCLK+3.3VCLK

+3.3VCLK

SPI_ENSH1,2
SPI_CLKSH1,2
DATA_OUTSH2
DATA_INSH1,2

CPLD_CLKSH2

SPI_ENSH1,2
SPI_CLKSH1,2
DATA_INSH1,2

Title

Size Document Number Rev

Date: Sheet of

SERIAL INTERFACE B

TSW4806 EVM

B
1 3Friday, September 20, 2013

Title

Size Document Number Rev

Date: Sheet of

SERIAL INTERFACE B

TSW4806 EVM

B
1 3Friday, September 20, 2013

Title

Size Document Number Rev

Date: Sheet of

SERIAL INTERFACE B

TSW4806 EVM

B
1 3Friday, September 20, 2013

SW1
1
2
3
4 5

6
7
8

C121 .1uF

C23
10uF

10% 16V

J14
PROG

1 2
4
6
8
10

3
5
7
9

U3A
EPM3064A

INPUT/GCLK1
37

INPUT/GCLRn
39

INPUT/OE1
38

INPUT/OE2/GCLK2
40

GNDINT
16

GNDINT
36

GNDIO
4

GNDIO
11

VCCINT
17

VCCINT
41

VCCIO
9

VCCIO
29

I/O/TDI
1I/O/TMS
7

I/O/TCK
26

I/O/TDO
32

GNDIO
24

GNDIO
30

R4
4.75K

R46
4.75K

C138 .1uF

U6

FT245RL

USBDM
16

USBDP
15

VCCIO
4

NC1
8

RESET
19

NC2
24

OSCI
27

OSCO
28

3V3OUT
17

AGND
25

GND
7

GND
18

GND
21

TEST
26

PWREN
12

WR
14

D1
5

D7
6

D5
9

D6
10

TXE
22

D4
2

D3
11

RXF
23

D0
1

RD
13

VCC
20

D2
3

C22
.1uF

R15
1K

R12
10KSW2

1 3

U3B
EPM3064A

IO1
42

IO2
43

IO3
44

IO4
2

IO5
3

IO6
5

IO7
6

IO8
8

IO9
10

IO10
12

IO11
13

IO12
14

IO13
15

IO14
35

IO16
33

IO15
34

IO18
28

IO17
31

IO20
25

IO19
27

IO22
22

IO21
23

IO24
20

IO23
21

IO26
18

IO25
19

TP1
RED
SPARE1

R5
4.75K

D6
LED RED

1
2

R47
4.75K

J13

USB_SUPER-MINI_AB

VBUS
1

D-
2

D+
3

ID
4

GND
5

GND1
6

GND2
7

GND3
8

GND4
9 C20

47pF

R40
20K

TP4
RED
SPARE2

R29
1K

R17
4.75K

SJP2

/WP

1
3

2

R13
10K

D7
LED RED

1
2

R53
4.75K

R30
1K

R1 0

U5

25AA512

SO
2

WP
3

VSS
4

SI
5SCK
6HOLD
7CS

1
VCC

8

R35
4.75K

D8
LED RED

1
2

R69
1K

R68
4.75K

D3
LED RED

1
2

R36
4.75K

C139 .1uF

C21
.1uF

C17
100uF

C19
47pF

C16
.1uF

R6
10K

C117 .1uF

R16
4.75K

R7
1K

C18
.1uF

R37
4.75K

U8

TPS3106K33

RSTVDD
1

GND
2

MR
3

SENSE
4 RSTSENSE

5VDD
6

R38
4.75K

C1
.1uF

R3

4.75K

R2
10K



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

12500 TI Boulevard. Dallas, Texas 75243

TI Confidential: NDA Restrictions

50 OHM

50 OHM

R48 SHARES A PAD W/ R50

50 OHM

REFIN

REFOUT1

OSCIN_N

OSCIN

CLKOUT_3N
CLKOUT_3P

CLKOUT3P

CLKOUT3N

CP2

CLKIN

OSC_IN

CP1

CPLDCLK

CLKOUT0P

CLKOUT5P

REFIN

CLKOUT2P

CLKOUT10P

CLKOUT10N

CLKOUT_10P
CLKOUT_10N

CLKOUT11P

OSCINP

OSCINN

OSCIN_P

CP1

REFOUT

REFINN

SYNC

+3.3VCLK+3.3VCLK

+3.3VCLK

+3.3VCLK
+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

SPI_ENSH1

SPI_CLKSH1

DATA_OUTSH1

DATA_INSH1

CPLD_CLK SH1

CLKIN1_PSH3
CLKIN1_NSH3

INT_REF SH3

Title

Size Document Number Rev

Date: Sheet of

CLOCK DRIVER B

TSW4806 EVM

B
2 3Friday, September 20, 2013

Title

Size Document Number Rev

Date: Sheet of

CLOCK DRIVER B

TSW4806 EVM

B
2 3Friday, September 20, 2013

Title

Size Document Number Rev

Date: Sheet of

CLOCK DRIVER B

TSW4806 EVM

B
2 3Friday, September 20, 2013

R18 0
DNI

C91
.1uF

M
S

A

J15
CLKOUT10N

1

2345

1K OHM @ 100MHz

FB7

M
S

A
J4

CLKOUT0P
1

2345

Y2

614.4MHz

VC
1

NC
2

GND
3

Output_N
4

Output_P
5

VCC
6

C61 .1uF

C127
10uF

10% 16V

U1
LMK04806B

CLKIN0p
28

CLKIN0n
29

CLKIN1p/FBCLKINp/FINp
25

CLKIN1n/FBCLKINn/FINn
26

OSCINp
36

OSCINn
37

LEuWIRE
44

CLKuWire
45

DATAuWire
46

STATUS_CLKIN0
62

STATUS_CLKIN1
63

SYNC
6

VCC1
10

VCC2
17

GND
23

DAP
65

VCC3
18

VCC4
24

VCC5
30

VCC6
35

VCC7
38

VCC8
41

VCC9
43

VCC10
47

VCC11
52

VCC12
57

VCC13
64

CLKOUT0p
1

CLKOUT0n
2

CLKOUT1p
4

CLKOUT1n
3

CLKOUT2p
13

CLKOUT2n
14

CLKOUT3p
16

CLKOUT3n
15

CLKOUT4p
19

CLKOUT4n
20

CLKOUT5p
22

CLKOUT5n
21

CLKOUT6p
48

CLKOUT6n
49

STATUS_HOLDOVER
27

STATUS_LD
33

OSCOUT0p
39

OSCOUT0n
40

CLKOUT7n
50

CLKOUT8p
53

CLKOUT8n
54

CLKOUT9p
56

CLKOUT9n
55

CLKOUT10p
58

CLKOUT10n
59

CLKOUT7p
51

CLKOUT11p
61

CLKOUT11n
60

CPOUT1
34

CPOUT2
42

LDObyp1
11

LDObyp2
12

OSCOUT1p
31

OSCOUT1n
32

SHUNT 1-2

C28

.1uF

SHUNT 1-2

120 OHM @ 100MHz

FB1

C92 .1uF

SHUNT 1-2

Y1

10.0000MHz

VC
1

ED
2

GND
3

OUT
4NC
5VDD
6

C82
.1uF

C107
8.2pF

C26
.1uF

C78 .1uF

C93 .1uF

120 OHM @ 100MHz

FB2

R24 82

12

D1

LED GREEN
STAT0

C94
.1uF

R50 30.1

DNI

JP4
REF_PWR
1

3
2

C77 .1uF

31 OHM @ 100MHz

FB81 2

R8

750
1 2

R19 0
DNI

C114
1500pF

120 OHM @ 100MHz

FB5

R74
240
DNI

M
S

A
J2

CLKOUT3P
1

2345

C79 .1uF

C81
.1uF

C31
.01uF

R72
10K
DNI

C125
10uF

10% 16V

R22 82

12

C64
100pF

R75
15K

R48 30.1

JP2
CDC_CLK

1

3
2

D4

LED GREEN
LOCK

R23 13012

C60 .1uF

R25 30.1

C27
.1uF

R55
240
DNI

C83
.1uF

C128
10uF

10% 16V

M
S

A

J3
CLKOUT3N

1

2345

C126
10uF

10% 16V

M
S

A

J6
CLKOUT2P

1

2345

C35
.1uF

L1
40nH

R10

750
1 2

M
S

A
J17

CLKOUT11P
1

2345

C80
.1uF

C87
.1uF

R54 22.1

SHUNT 1-2

M
S

P

J5
SYNC1

2

M
S

A

J1
CLKOUT5P

1

2345

C84
.1uF

C62 100pF

C140 4.7uF

R21 130
12

R56
240
DNI

JP3
REF_SEL
1

3
2

C86
.1uF

C88
.1uF

C63
10uF

10% 16V

R57
240
DNI

U4

CDCV304PW

OE
2

GND
4

X1Y3
8

CLKIN
1

X1Y2
7VDD3.3V
6X1Y1
5

X1Y0
3

C89
.1uF

C59
10uF

10% 16V

C29
.1uF

M
S

A

J7
CLKOUT10P

1

2345

C90
.1uF

SJP1
REF_EN
1

3
2

D5

LED GREEN
STAT1

M
S

A

J11
OSC_IN

1

2345

C32
.1uF

120 OHM @ 100MHz

FB6

M
S

A

J16
REFOUT1

1

2345

R76
10K

R49 30.1

JP1
VCXO_PWR

1
2

C85
.1uF

R70
10K
DNI

R9

750
1 2



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

TI Confidential: NDA Restrictions

BOARD STANDOFFS AND HARDWARE

RESISTOR TO SHARE PADS W/ T1

C24 & C25 SHARE A PAD

PLACE CLOSE TO IC

R26 SHARES A PAD W/ C34

C8, R14, R11 MUST BE PLACED
AS CLOSE AS POSSIBLE TO U2-16

2A

5VIN

CLKIN_1PCLKINP

CLKN

CLKIN_1P CLKP

+5V_IN5.0V_IN

+5V

+5V_IN +3.3VCLK

+3.3VCLK

+3.3VCLK
+3.3VCLK

+5V_IN

CLKIN1_P SH2

CLKIN1_N SH2

INT_REF SH2

Title

Size Document Number Rev

Date: Sheet of

PWR REGULATORS B

TSW4806 EVM

B
3 3Friday, September 20, 2013

Title

Size Document Number Rev

Date: Sheet of

PWR REGULATORS B

TSW4806 EVM

B
3 3Friday, September 20, 2013

Title

Size Document Number Rev

Date: Sheet of

PWR REGULATORS B

TSW4806 EVM

B
3 3Friday, September 20, 2013

C8
10uF

C13
.1uF
10%
 

1
2

R31 10K

M
S

A

J12
CLKIN1_P

1
2345

1K OHM @ 100MHz

FB3

C12

.01uF

C15
.01uF

R27
270

1K OHM @ 100MHz
FB4

R26 18

J8

CONN JACK PWR
3
2
1

MT1

STANDOFF, ALUM, 4-40 X 1"

1

C24

.01uF

MT4

STANDOFF, ALUM, 4-40 X 1"

1

C4
100uF

C7
10uF

Q1
CSD18532Q5B

4

5

2
1

6
7

3

8

U7
TPS2400

NC1
1

GND
2

NC2
3

GATE
4

VIN
5

C141 4.7uF

R28
270

SCREW PANHEAD 4-40 X 3/8"

BARE BOARD, TSW4806

TP5
RED
+3.3V

C25
.01uF
DNI

SCREW PANHEAD 4-40 X 3/8"

J10

BLK
GND

C34
.1uF
DNI

TP2

BLK
GND

R11
10.2K

SCREW PANHEAD 4-40 X 3/8"

J9

RED
MAIN PWR

R67
510

SCREW PANHEAD 4-40 X 3/8"

F1 DNI

TP3

BLK
GND

C14
1uF
20%
 

MT2

STANDOFF, ALUM, 4-40 X 1"

1

D2
LED GREEN

5.0VDC

C3
1uF

C5
.1uF

R58 0
DNI

MT3

STANDOFF, ALUM, 4-40 X 1"

1

T1

TC1-1-13M+

6

4

1

2

3

C9
1uF

R14
31.6K

R20
100

C10
.01uF

C2
1uF

+
C11
47uF
10V
10%

U2
TPS74201

IN1
5

OUT1
1

BIAS
10

SS
15

EN
11

OUT2
18

OUT3
19

OUT4
20

IN2
6

IN3
7

IN4
8

FB/SNS
16

PG
9

NC1
2

NC2
3

NC3
4

NC4
13

NC5
14

NC6
17

GND
12

PAD
21


